
a. There is a mistake in the way this 
     math problem was solved.

Explain the error. _____________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

Find the Mistakes
Name:

Solve the math problem correctly.

b. There is a mistake in the way this 
     math problem was solved.

Explain the error. _____________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

Solve the math problem correctly.

3,487
+ 2,444_______

6,931

111

2,387
+ 6 49_______
8,877
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3,487
+ 2,444_______

5,931
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2,387
+ 649_______

3,036
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ANSWER

      The person who solved this problem carried a 1 into the 

thousands place, over the digit 3. In the hundreds place, 4 +4 + 1 = 9. 

Therefore, you do not carry (regroup) by placing a 1 in the thousands place.

      The problem was not lined up correctly when it was written. In the 

number 649, the 6 should be in the hundreds column (below the 3), the 4 should be in 

the tens column (below the 8), and the 9 should be in the ones column (below the 7).
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